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HE BIRST STERS

QUADRATIC EQUATIONS
SOLVE BY FACTORISING

NO CALCULATOR

Al Solve
X+ Tx+10=0

A2 Solve
X +8x+15=0

A3 Solve
X+ Tx+12=0

A4 Solve
X 4+10x+9=0

B1 Solve B2 Solve B3 Solve B4 Solve

¥ +3x-10=0 ¥ -2x-15=0 ¥ -8 +12=0 ¥ -3x-18=0
C1 Solve C2 Solve C3 Solve C4 Solve

X+6x+9=0 X —6x+9=0 X —10x+25=0 X +8x+16=0
D1 Solve D2 Solve D3 Solve D4 Solve

¥ +3x=18 X -5x=14 X +3x=4 X —11x=-28
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QUADRATIC EQUATIONS

SOLVE BY FACTORISING

NO CALCULATOR

Al Solve
X+ Ix+10=0

(X+2)(x+5)=0

Y o\

A2 Solve
X +8x+15=0
(x+3)(x+5)=0

Y N

A3 Solve
X+Ix+12=0
(x+3)(x+H)=0

Y\

Ref: (]233.1 F 1
A4 Solve

X 4+10x+9=0
(Xx+1)(x+9)=0

Y N

X=-2 xX=-5 X=-3 =-5 xX=-3 X =-U x=-1 =-9
B1 Solve B2 Solve B3 Solve B4 Solve
¥ +3x-10=0 ¥ -2x-15=0 ¥ -8 +12=0 ¥ -3x-18=0

(x=2)(x+5)=0

(x=B)(x+3)=0

Y N\
x=5

(x-6)(x-2)=0

Y o\

(X—-86)(x+3)=0

X=2 xX=-5 xX=-3 =2
C1 Solve C2 Solve C3 Solve C4 Solve
X +6x+9=0 ¥ —6x+9=0 ¥ —10x+25=0 X +8x+16=0

(X+3)(x+3)=0

Y Y
3

(x=3)(x-3)=0

y Y

(Xx=5)(x-5)=0

YV Y
X=5

(x+H)(x+H)=0

V ¥

X=- x=3 x=-H

D1 Solve D2 Solve D3 Solve D4 Solve
¥ +3x=18 ¥ -5x=14 X +3x=4 - 11x=-28
X" +3x-18=0 X" -Bx-14=0 X +3x-U=0 X" =11x+28=0

(x=3)(x+6)=0

x=3 X=—6

(x-1(x+H)=0

v\

x=1 x==-U

(x=7)x-H)=0

’

xX=7 x=HU
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